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g Al A

28T 204 2os|
SH: SEEAD
o200 Melag
2o 210 AAE KIS
5 : 211 AarICeg (crel: &g
SN-F-B-g-2 o & o rSJEL=L IR CmE=
ES Al 10,218,606 22,177,551 A 11,958,945
SEeA D 10,218,606 2,177,551 A11,958,945
200 M2l==¢ 1,333,656 876,000 457,656
210 ZAEH 2% 1,283,656 826,000 457,656
211 THAH O ==& 30,340 0 30,340
211-02 SRMAUUZ 30,340 0 30,340
OJNESL HI0I2I1A LHAIL S AUE 2 30,340
212 AliEE2 Y 1,140,000 814,000 326,000
212-09 JIEFAE R 1,140,000 814,000 306,000
OJI=2% Haldl 1,140,000
213 4240 3,000 3,000 0
21305 JIEt=s2 3,000 3,000 0
OsiZ&EST HEZ2 I8 &ty 3,000
214 At ¢ 107,916 0 107,916
214-01 AP E Ak 107,916 0 107,916
OJNESn HI0IQI1A LHAL HABHY 42 107,916
215 AR ga= 2,400 9,000 26,600
215-01 HaRP242 2,400 9,000 28,600
OHERIZ Z4+023 2 2,400
230 NILHZMM - R= 50,000 50,000 0
234 el 2 50,000 50,000 0
234-02 JIEIHEH = 50,000 50,000 0
OstzBRY Y VIR 50,000
50 X3 8,047,850 17,454,558 29,406,708
510 2NEEIES 3,833, 100 13,100,000 9,266,900
511 FUEXZS 3,833,100 13,100,000 A\9,266,900
51101 =11EX= 3,833,100 13,100,000 29,266,900
OZAZ=HME Del8lE801Zet 8 At 100,000
OSUHIEQE AERAY (LELHIZNAIR) 160,000
OMEIHREY B2 EIXIA 50,000
OMEIHAIBIAXIZR HA] 100,000
OMEI BB S ALY 45,000
OOIMES TFHOI AL 3,000
OBHEBIR )| FEAI 84,000
OSIZEST slX =8 U BHOIBAL S Al 2,800,000
OZMEIAE 2 16,100
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el PG 2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 79,310
Al 33,990
M ORIMZZ2NSE S 113,300 111,978 1,322
OstEMY Il =HAIY 212 113,300
-Jl== 76,9602 682 x 15H 78,500
= 54,949
Al 23,551
-FeRdrd 76,9603 x132 «15& 15,008
= 10,506
Al 4,502
-t 76,9602 x32 159 3,464
= 2,425
Al 1,039
—-=4tl 5,0002 «68& * 15 5,100
= 3,570
Al 1,530
-4z 102,069,600 *11% 1,228
= 7,860
Al 3,368
201 Ler=23 | 6.700 8,022 A1,322
= 4,690
Al 2,010
01 AtR2te|HI 6,700 8,022 A1,322
OdtdMYD] +=HE =235 78 6,700
= 4,690
Al 2,010
HE<2ZE 2 379,591 154,290 225,301
= 250,000
=S 41,000
Al 88,591
S8 2c 4,500 4,290 210
201 et 3| 4,500 4,290 210
01 At2t2l] 2,500 2,290 210
O=s=e ?132 244l 1,150
-t s HHE 700
-=STE fda dHIBY 450
OoglEegaelig 822 M 1,350
02 s3=gHl 2,000 2,000 0
CHIB28MNTAE =A2el 2,000
HIESE M2 ALY 375,001 150,000 225,001
= 250,000
s 41,000
Al 84,001
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 50,002 0 50,002
01 At2teltl 50,002 0 50,002
OHIEQEMBAIE ZLIHE 50,002
—NEMFH === 8,712
—SHAA 242 41,290
307 212+01& 182,000 150,000 32,000
= 150,000
S 32,000
02 LB HAHE L 182,000 150,000 32,000
OsYHIERY ASAAL(LESHIZ X
2 At) 182,000
= 150,000
[ 32,000
401 Al HIZ S 0HYI 143,089 0 143,089
= 100,000
= 9,000
Al 34,089
01 AlZH| 143,089 0 143,089
OgoiAZ=ME = Eet ZEALY 143,089
= 100,000
= 9,000
Al 34,089
=H2H 2e| 3,249,294 16,400,559 A12,151,265
= 452,000
Al 2,797,294
E2R 2l 491,653 312,276 179,377
101 21AH| 188,813 130,898 57,915
04 JIZtN2Z2XNS 2= 188,813 130,898 57,915
O2AF 2ZAl R(0F2}) 35,925
-Jl=s 57, 72031702 +2& 19,625
-TFREsE 57,7202 %0.9+35F+2H 3,637
-dxRaEre 57, 7203+0.9+8 L2 832
-352I2E2rE
57,7203 0.9+ 162 +2& 1,663
Op2t=&
9,620 *3A|2++0.5x 1702 +2& 4,907
—=4| 5,0003 %1702 2% 1,700
—4UEs=s 32,364,000 *11% 3,561
O2AF 2ZAl AR (MEH) 18,022
-Jl=s 57,7203 x85 2 x2H 9.813
-TFREsE 57,7202 +0.9+185F+2H 1,871
RSP =Sy 57, 7203%0.9+4 L +2H 416
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&t =E22d 2l (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 50,000 50,000
01 Al&H| 50,000 50,000
ONE2aSSHAE F=H FUXFAY 50,000
JIEE2ESSHLAE EX 2,024,641 14,488,283 A12,463,642
401 AIZHIX S0 2,024,641 14,488,283 12,463,642
01 AlZH| 2,024,641 13,448,283 11,423,642
OIEE2L33HaAE UM 2,024,641
SSH=H2AE 29 281,000 100,000 181,000
201 2= 31,000 0 31,000
01 At22t2l] 31,000 0 31,000
O3 - AHEX SSHX2AE 245 Il
= =22 31,000
701 JIEtRI HSHES 250,000 100,000 150,000
01 JIEt=I AN ES 250,000 100,000 150,000
OS2 - MEX ZRHEHAL +42
Abl & & 250,000
BEIIZANE BHASEHIZ S 452,000 0 452,000
= 452,000
401 AlEHIZ 201 452,000 0 452,000
= 452,000
01 Al&HI 452,000 0 452,000
OZIIZAIE B ML OIRER) 327,500
= 327,500
OBIIZAIE B2 LA (ESSSH
) 64,500
= 64,500
OZIIZAE B2 LML (HSSSH
) 30,000
= 30,000
OZIIZAE B2 ML (Z2SSH
) 30,000
= 30,000
2HH2E ol 101,995 77,725 24,270
+22g 0lg 97,845 55,025 42,820
201 get=3y| 54,565 43,825 10,740
01 AtR2te|H] 50,165 41,425 8,740
OgH=s 7L (&2 5) 15,000
O=Z AN HII=Hel 9,000
OYgNEd sS4 2,160
O==ZHA =2 1,860
OESAZE M5 =235 78 1,500
O="nY dFISATA 2 Q20N FA =
g 640
OE2A2g A =2 8,000
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SN +EERD
SR E g2
el MEHH 2H (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 35,000
101 @1A4H| 96,840 95,414 1,426
= 48,420
= 14,526
Al 33,8%4
MU IIRIMZZENSES 96,840 95,414 1,426
OdEiALet 4= EX 217 96,840
-Jl== 76,9602 x 1652 x5 63,492
= 31,746
= 9,523
Al 22,223
-ra5dsrd 76,9602 x44 2 5 16,932
= 8,465
= 2,540
Al 5,927
ERUPNE= 76,9602 x7 2 +5H 2,694
= 1,347
= 404
Al 943
—-=4l 5,000 x165 2+ 4,125
= 2,063
= 619
Al 1,443
—-4=EE= 87,241,800& *11% 9,597
= 4,79
= 1,440
Al 3,358
201 eer23| 3,160 4,586 1,426
= 1,580
= 474
Al 1,106
01 At2teltl 3,160 4,586 1,426
OUEIHRNEMEZ EIXIS 425 7€ 3,160
= 1,580
= 474
Al 1,106
OisE 25 & 22 69,600 68,160 1,440
201 er2&| 39,100 37,660 1,440
01 At2teltl 24,700 23,260 1,440
OR4 Ords= Xg & AtHIX2 7,000
ORY Otds= #1& 8,000
O0fdisE 28 =2 ZXE & 250
ORdiorliss Z&H X)) 7 2,000




SN +EERD
SR E g2
el MEHH 2H (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORuiotssS Z& SolHX ¢ 1,000
OOt s=Llci2 e &g 210
O+=8H3s It & 2l 78 800
OOt sS= TloHoe 49 M 1,000
OZEHX AtMXel 225 F 1,000
OYUHX NZBA 2E =& 1,600
OldsE 1x8ES 7 400
Os=d s= A3 =5 1,440
2 S524g4l 14,000 14,000 0
ORFioIdSE Z2lt 282 14,000
03 Ar=EHI 400 400 0
OBJIHEAID g us 400
206 M=l 10,500 10,500
01 M=4l 10,500 10,500
OFoliotds= JIUHM & 10,500
301 EtE NS 20,000 20,000
14 0Bt 2as 20,000 20,000
OFloIdsSE 222 20,000
— UG 17,500
— et 2,500
OriS= LIcHZ &AL 15,000 15,000 0
= 4,500
Al 10,500
301 EetE2 NS 15,000 15,000 0
== 4,500
Al 10,500
14 JIEt2 8= 15,000 15,000 0
Otds= 2 sXE S Li2d= 15,000
= 4,500
Al 10,500
OFHS= IIIoHOIl 2 ALY 72,000 72,000 0
= 36,000
< 10,800
Al 25,200
402 QI2F X201 & 72,000 72,000 0
= 36,000
== 10,800
Al 25,200
02 SIINEANSEX(0IETHR) 72,000 72,000 0
O0tds= LlologAlE &X K& 72,000
= 36,000
=S 10,800

S
[




SN +EERD
SR E g2
el MEHH 2H (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 25,200
EMSALE 2el 25,102 32,619 AT,517
101 ©1AH| 22,498 29,019 6,521
M ORNZZ2NSE S 22,498 29,019 26,521
OEMZAE 22| 212 22,498
-Jl=s 76,9603 x1902+ 1 14,623
-ma5dsE 76,9602 x522x1 4,002
—Axte=g 76,9603 0L «1d 693
—24l 5,0003 %190 +1& 950
-4 28 20,266,960 *11% 2,230
201 er23 | 2,604 3,600 2996
01 At2teltl 2,604 3,600 A9%6
OZMEAY X S = 2,604
S2MEAE =29 23,000 20,000 3,000
= 16,100
= 3,450
Al 3,450
201 er23| 10,100 9,080 1,050
= 7,070
[ 1,515
Al 1,515
01 At22t2lt] 8,900 7,850 1,050
OEMIAE R01BH| ==& 1,200
= 840
== 180
Al 180
OZMEAY 22 & X=Hl, SN 7L 4,000
= 2,800
== 600
Al 600
OEMIAE 29 & FX2e] 3,700
= 2,590
s 555
Al 555
2 S5=2g4l 1,200 1,200 0
OZMEAY &I & Sil= 1,200
= 840
s 180
Al 180
206 MH=H| 12,900 10,950 1,950
= 9,030
s 1,935
Al 1,935
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SN +EERD
SR E g2
el MEHH 2H (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 12,900 10,950 1,950
O MHOl 7 12,900
= 9,030
< 1,935
Al 1,935
sAl 28 & 0|8 7,897,720 5,233,100 2,664,620
= 2,945,000
< 4,140,000
Al 812,720
2aX9g EX S L 2EH0ISAIE EXAHS 3,160,000 790,000 2,370,000
= 2,800,000
=S 360,000
401 Al HIZL 2048 3,160,000 790,000 2,370,000
= 2,800,000
== 360,000
01 Al&H| 3,160,000 790,000 2,370,000
OstZESA FEX S2 & EH0ISAIE
=X A 3,160,000
= 2,800,000
= 360,000
MENAINMHIAXIZ N HI A 200,000 130,000 70,000
= 100,000
= 30,000
Al 70,000
301 Eet2 NS 200,000 130,000 70,000
= 100,000
= 30,000
Al 70,000
14 DBt 2 a3 200,000 130,000 70,000
OdEANMBIAXIZN A 283 200,000
= 100,000
= 30,000
Al 70,000
MEHHMHIAXIS M HIEAS (REAIAF) 4,197 4,072 125
101 @1A4H| 2,617 2,492 125
04 JIZtNZ22 XS 2+ 2,617 2,492 125
OUEHAIMBIAXIZ M HISTAIE SXIZAF 2
e 2,617
-Jl=s 76,9603 x 1422 H 2,15
-maRdsE 76,9602 x32 x2H 462
201 er2 3| 1,580 1,580
01 AtR2telHl 1,580 1,580
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SN SREAD
M R d sX2el
gl sX 28 2 018 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUEHAMBIAXIZS M HISFAIE =2 3
NS 980
OUEHAIMBIAXIZM HSTAE S5 % 600
e XS XE - =4 90,000 86,000 4,000
= 45,000
Al 45,000
307 212+01& 90,000 86,000 4,000
= 45,000
Al 45,000
02 LB HAHE L 50,000 50,000 0
OUEH 2B X SHAIY K& 50,000
= 25,000
Al 25,000
03 PIZAHHEE 22X 40,000 36,000 4,000
OdEZBXNHE AN 23 40,000
= 20,000
Al 20,000
HEH2EYZ 2l 59,492 64,793 25,301
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